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LINE PLANT PRACTICE C, 1974 (continued)

Q 8 Describe 5 important factors which influence the size of an area 
served by a telephone exchange.

A 8 For completeness, 6 factors influencing the size of an area 
served by a telephone exchange are described.

(a) The technical requirements of the exchange and transmission 
equipment include the need to be able to operate the exchange equip­
ment by switch-hook control and dialling. This places a limitation on 
the d.c. resistance of the cable pairs linking the telephones to the 
exchange; in modern British practice, this limit is I kQ. Similarly, 
the need to be able to speak over the completed circuit imposes a 
limit on the length of circuits between the telephones and the exchange. 
In modern British practice, the limit is a loss of not more than 10 dB 
at 1-6kHz

(b) The densty of subscribers per unit area of territory influences 
the siting of the telephone exchange, when taken into account in 
relation to the items discussed below.

(c) Natural boundaries such as rivers, estuaries and railways, affect 
the siting of telephone exchanges and the division of exchange areas 
into cabinet, pillar and distribution-point areas.

(d) Line-plant costs considerably influence the choice of sites for 
exchanges; a balance has to be struck between the costs of the pro­
vision of subscribers’ and junction cables. Within exchange areas, 
line-pant costs and the rate of growth largely determine the siting of 
cabinets and distribution points.

(e) Exchange-equipmenn, building and accommodation costs have a 
major influence on determining the size of an exchange area. Con­
centration of equipment into one building tends to reduce these costs, 
although the high costs of building land and maintaining a large 
building in the centre of a town could favour smaller exchanges on 
the periphery of the conurbation.

(f) Within an exchange area, the method of distribution is in­
fluenced by the number of subscriber’s per unit area and by the forecast 
rate of growth of the number of subscribers. The use of cross-connexion 
cabinets has been shown to be economic in most circumstances. In a 
densely-populated area, a large cabinet serving a compact area could be 
economic. In a less-dense area, the cabinet could be smaller, although 
it would serve a larger area. The use of cabinets saves main-cable 
pairs and, hence, the size of a cabinet area is influenced by its distance 
from the exchange.

The governing factor influencing the planning of the area served 
by a telephone exchange is the economic consideration, judged over 
the costing period (usually 20 years), taking into account existing 
internal and external plant and future requirements based on a fore­
cast of growth, both of subscribers’ lines and traffic.

Q 9 (a) Describe how the high-voltage Varley test can be used to 
locate afau/t which has lowered the dielectric strength of a coaxial pair 
in a cable.

(b) What safely precautions must be taken before carrying out this 
test 7

A 9 (a) The fault can be found using the high-voltage Varley test in 
conjunction with a loop-resistance test. The circuit shown in sketch (a) 
is connected for the Varley measurement and sketch (b) shows how 
the bridge is used to make the loop measurement.

The circuit of sketch (a) is, esssnttally, a conventional Varley earth­
fault test circuit, but a high-voltage d.c. generator is used in place of a 
battery, and protection is provided for the galvanometer. Equal ratio 
arms are used, the resistance of each being approximately that of the

inner conductor of 10 km of 2-6/95 mm coaxial cable. The variable 
resistance arm is a 4-dial decade box, adjustable in steps of 0-01 01. 
A ballistic balance circuit is connected across the galvanometer to 
eliminate fluctuations of the needle that occur due to dielectric 
breakdown. Two balance circuits are provided: for 5km and Dkm 
sections of cable. The series inductor is used to limit current surges 
which could otherwise damage the galvanometer when breakdown 
occurs.

The loop resistance is measured first, using the circuit shown in 
sketch (b). The Varley measurement is then made using the circuit in 
sketch (a). At first, the galvanometer sensitivity is reduced to a mini­
mum, and the output of the high-voltage generator increased until 
approximately 2 breakdowns occur per second; this is observed on an 
output voltmeter of the generator. The senssitvity of the galvanometer 
is then increased, while the bridge is balanced on variable resstor Rv 
and the baHistic balance control in turn, since these 2 adjustments 
affect each other. The resistance to the fault, x ohms, is then given by

RL - Rv 
x 2 ,

where RL is the loop resistance (Q), and Rv is the Varley resistance 
(Q).

8



LINE PLANT PRACTICE C, 1974 (continued)

(b) Since a high voltage is used for the test, safety precautions are 
essential. Before the test is made, it should be ensured that no person 
can touch the cable conductors at the ends, or at any intermediate 
stations, and that the power-feeding circuits and terminal apparatus 
are disconnected. Warning notices should be displayed. At the end of 
the test, the equipment should be left for a few minutes after switching 
off and, before the cable is disconnected, it should be confirmed that 
it has discharged, by using a neon tester.

Q 10 (a) Describe a method of providing an earth connexion to a 
telephone exchange using deep-driven electrodes.

(b) The resistance of a single earth rod is 20 02. By reference to 
Fig. 1, determine how many rods will be required to make the earth­
system resistance 7 92. Assume a spacing-to-Iength-of-rod ratio of 2.

SSPCCNGO-ENGTII OFROD MUD

Fig. I

A 10 (a) A deep-driven earth-electrode system uses mild-steel earth 
rods, 1-5 m long and 16mm in díamete-, threaded at both ends to 
permit them to be screwed together to form a long continuous rod. 
The site for the earth electrode is chosen to be as far as possible from 
any lead-covered cables entering the building and adjacent electricity 
cables and gas and water pipes.

A hole, about 600 mm deep and 450 mm in diameter, is excavated. 
A tip and driving-head are screwed to the ends of a rod, and the rod is 
driven vertically into the ground at the bottom of the hole. When the 
first rod has been driven in, the driving head is removed, a second rod 
is secured to the first, the driving head is replaced, and driving is 
continued. More rods are added until a sufficiently low resistance 
value has been obtained.

If driving becomes difficult before a sufficiently low resistance value 
is obtained, further rods are driven into the ground. The spacing 
between the rods should be approximately equal to the depth to which 
the spikes are driven, but spacing need not exceed 12 m. It is usually 
found that additional spikes can be driven to about the same depth as 
the first spike, and the resistances of all the spikes can be assumed to 
be approximately the same value.

Connexion between the spikes of the electrode system, and between 
the complete system and the main bus-bar, is by means of a suitable 
size of green PVC-insulated cable and soldering sockets. The cable 
connecting the spikes is laid in a trench not less than 300 mm deep. 
The cable between the electrode system and the bus-bar is laid at the 
same depth but protected by ducting. The top connexions of the 
spikes, which are liable to corrosion, are wrapped with sealing tape.

(b) For a 7 Q earth system, the percentage ratio of the resistance of 
the system to that of one rod is

7 ___ .70X 100% _- 35%.

Fi0m the graph in Fig. 0 for aspacing-to-length-of-rod ratio of2, 
it can be seen that 4 rods are required.

BASIC MICROWAVE COMMUNICATION C, 1974 
Students were expected to answer any 6 questions

Q 1 (a) If a power, P watts, is radiated from an isotropic source, show 
that the power- density at a range R metres is equal to

P .417R2 watts/metrez.

(b) Calculate the power reaching a correctly aligned paraboloid, 
having an aperture of 3 m2, at an unobssructed range of 20 km, if the 
transmitter radiates I W from an aerial having a gain of 2000.

A 1 (a) An isotropic source radiates its power uniformly in all 
directions. The surface area of a sphere, of radius R metres, is 
4ttR2 metres2, so that the power denssly at a distance R metres from 
an isotropic source radiating P watts is

P ,4—R watti/meirez. 4nR2 ' 

where L is the loop inductance (H), and C is the loop capacitance (F).
The conductors of an open-wire transmission line are well-spaced 

and have both a high self-inductance and a low capacitance between 
them. The characteristic impedance of an open-wire line is given by 
276 logm d/rohms, where d and r are the spacing and radius of the 
wires respectively (m). For a typical line, 20 z 600 Q.

In a coaxial cable, the conductors are close together, reducing the 
self-inductance and increasing the capacitance. Both factors reduce 
the value of 20. For an air-spaced coaxial cable, the characteristic 
impedance is given by 1381ogio b/a ohms, where b and a are the 
inner diameter of the outer conductor and the outer diameter of the 
inner conductor respectively (m). For a typical air-spaced cable, 
Zq = 75 9 when b/a = 3-6.

The value of 20 falls to about 50 Q for a cable with a solid dieleccric.
(b) The power loss in a coaxial cable can be expressed in terms of 

the attenuation, a, where

(b) The power density at a range of 20 km from a 1 W isotropic 
source is 1/{47t(2 > 104)2} W/m2. Therefore, by definition, the power 
density at this range from an aerial having a gain of 2000 is

2000 A ,
: -¡—pi---- i7j"n3 _4X D-’WmZ.4r/(2 x 104)? '

Therefore, the power received by an aerial of aperture 3 m2 is
3 x 4 X 10-7 W = l-2/<W.

or,

Q 2 (a) Explain why the character¡eiic impedance of an open-wire 
transmission line is considerably greater- than that of a coaxial cable.

(b) State, with reasons, whether or not each of the following factors 
influences the power loss in a Iow-Ioss coaxial cable at radio frequencies:

(i) the diameter of the inner coiudKloo,
(ii) the inner diameter of the outer conductor, 

(Hi) the permttbvtty of the mndatmg material, and 
(iv) the standing-wm’e ratio.

A 2 (a) The characceristic impedance, 20 ohms, of a transmission 
line, where the series resistance and shunt leakage are negligible, is 
given by

2 = J(5) ohms,

82

where w is the angular veeocity (rad/s), p is the resistivity (Q m), and 
61- is the relative permittivity.

(i) If b is held constant while a is varied, the attenuation, and hence 
the power loss, reaches a minimum when b/a -- 3-6. This represents 
an optimum condition between the high reiistive loss of a small inner 
conductor and the low b :a ratio which reduces 20 but requires a 
heavier current for a given transmitted power.

(ii) If a is held constant while b is varied, the power loss is reduced 
as b is increased. This is because the reduced resistance of the outer 
conductor reduces the resistive loss, and because the increased char­
acteristic impedance requires a lower current for a given power and 
the resistive losses are further reduced. _ _

(Hi) It can be seen from the formula that, if the permiiltiyity is 
increased, the loss, which is primarily due to the reii:stti/itiy, Is also 
increased. The increase in permittivity reduces Zq and the current is,

I



BASIC MICROWAVE COMMUNICATION C, 1974 (continued)

therefore, increased for a given transmitted power. This increases the 
resistive loss.

(iv) If the standing-wave ratio is other than unity, power is reflected 
by the load which, therefore, receives less power. The reflected wave 
itself causes additional losses in the cable. The conductor losses from 
the forward wave nevertheless remain the same.

Q 3 (a) With the aid of diagrams, explain
(i) why a TEM wave cannot be propagated in a hollow waveguide, 

an'
(if how a TE wave can be represented as the restUtant of a pair of 

TEM waves.
(b) A wave, propagated in the dominant mode in a rectalngiUar wave­

guide having internal dimensions 28 X 13 mm, is found to have a guide 
wavelength equal to the cu--ofl wavelength. Calculate the frequency of 
the source energizing the waveguide.

A 3 (a) (i) A TEM wave has an electric field, E, and a magnetic 
field, H, at right angles to each other and to the direction of propaga­
tion, as shown in sketch (a) for a plane TEM wave in free space. This 
wave cannot be propagated in a hollow waveguide because the magnetic 
field would be at right angles to the sides of the waveguide containing 
they-axis. This does not satisify the boundary condition that a magnetic 
field perpendicular to a prrfrctty-conductipg boundary must vanish 
at the boundary.

(ii) A TE“0 wave, which has a longitudinal component of magnetic 
field, is shown in sketch (b), and can be propagated alongahollowwave- 
guide (a rectanguLirwaveguide is shown in sketch (b)).The boundary 
condition referred to in part (a) (i) is met in this case, and the longi­
tudinal component of the magnetic field, parallel with the sides of the 
guide, is balanced by currents in the walls at right angles to the magnetic 
field. This wave can be represented by 2 TEM waves travelling at an 
angle of +0 to the longitudinai axis of the waveguide, as shown in 
sketch (c). The walls of the waveguide can then be inserted as indicated 
by the dashed lines, and the boundary condition is met.

(C
(b) For the dominant mode in a rectanguuar waveguide,

1 1 1 ._ .   . -   . •, 
Agz A2 (-la)2

where Ae is the guide wavelength (m), A is the free-space wavelength 
(m), and a is the broad dimension of the waveguide (m).

The waveguide cuts off at a free-space wavelength of Ac metres 
when Ag -> co. Therefore,

1_±__L
A? A7 (27)2 o’

whence Ac = 2a.
Now, Ag = Ac = 2a.

- J_= ! i ■
” (2a)2 A2 (2a)2

whence A = av/2 metres.

c ,
But, f = 7 ~ —hertz,A

where e is the velocity of light, equal to 3 x 108 m/s, and f ss the 
frequency (Hz).

3x108
2s x io-a x vz Hz,

= 7‘58GHz.

Q 4 (a) Explain briefly why theful advantages of frequency modulation 
cannot be achieved unless

(i) a very high carrier frequency is used, and
(ii) the signal at the output of the mtrrmrdiAte-frrqurncy amplifier in 

the receiver is large.
(b) A frrqttrncy-modldatiAn system, which provides a channel for 

speech communication (300-3400 Hz), has a carrier frequency of 
100 MHz and a deviation ratio 0f15. A 12 V, 600 Hz test input signal 
is found to produce the maximum frequency deviation. Calculate

(i) the maximum frequency deviation of the system,
(ii) the frequency d-wAtion that would rrsuit from a 10 V, 3 kHz 

input signal,
(iii) the modulation index for an 8 V, 17 kHz input sigitai, and 
(iv) the Approximate practical bandwidth require! for the system.

A 4 (a) (i) To pass the most important part of the frequency 
speccrum of the modulated signal, a frequrpcy-modulation system 
requires a bandwidth many times wider thin that required for an 
Amplitude-modulation system. The wide Speccrum reduces the effect 
of interference occurring in a limited part of the bind. The 
effect of phase-modulated noise on the carrier is proportionately less 
for wider phase deviations caused by the modulation. Th- wide 
speccrum enables a good sigpa!-to-poisr ratio to be maintained in the 
communication chinnel in the presence of A much poorer carrier-to­
noise ratio, provided the litter does not fall below the threshold level.

The large bandwidth required for each channel requires a very high 
carrier frequency, rspeccaily for multi-channel systems where space 
is required in the frequency sprctrum for a number of separate 
chipprls. Each transmission must form a low enough percentage of 
the carrier frequency to be practicably realizable.

(ii) A large signal is required at the output of the int-rm-diitr- 
frequency amplifier to enable the Amplitude limiter to work eficientty. 
If it does not work efficienHy, impulsive noise and variations in the 
signal level impair the quality of the communication channel.

(b) (i) The deviation ratio is given by 
maximum frequency deviation , 
maximum modulating frequency

so that the maximum frequency d-viatiop of the system

= 15 x 3-4 = 51 kHz.

(a) The frequency deviitiop is proportional to the modulating 
voltage, so that the frequency drviatiop produced bya 10 V modulating 
signi, for any frequency in the sprerh-communicatiop bind, 1

51 x 1 = 425kHz.

(Hi) The frequency drviition produced by an 8 V, 1-7 kHz input 
signal is 51 X 8/12 = 34 kHz.

Now, the modulation index
_ frequency deviation , 

modulating frequency

_ .34 X 103 = 20 
W7X1Q3 2°-

(iv) The approximate practical bandwidth required for a frtqurncy- 
moduHtion system is 2(D + A) hertz, where D is the frequency drv1a- 
tion (Hz), and A is the maximum modulating frequency (Hz).

Therefore, the bandwidth required

, = 2(51 + 3-4) 2 110 kHz.

Q 5 (a) Fig. 1 represents a section of rectangular waveguide closed at 
both ends to form a cavHy, which is to resonate at its lowest frequency. 
Make 2 copies of this diagram and,

(i) on one copy, sketch the H-firldpattrrm,
83



BASIC MICROWAVE COMMUNICATION C, 1974 (continued)

(ii) on the o/her, indicate with a line the location of the maximum 
E-field, and,

(ill) on ether, show the position of probe to ensure maximum coupl­
ing with the cavity.

(b) Calculate the free-space wavelength of the lowest resonant 
frequency.

(c) State briefly why resonance could be obtained at other frequencies.

A 5 (a) The resonann field-pattern in the cavity can be represented 
as the resultant of 2 waves moving in opposite directions over half a 
guide-wavelength of waveguide. The resultant: magnetic-field pattern, 
and the position of the maximum E-field, are shown in sketches 
(a) and (b) respectively. The pattern for the lowest resonant frequency 
is that of the H101 resonance pattern. Sketch (a) also shows the position 
of a probe for maximum coupling.

(b) For a rcctangular waveguide,

.J_L~. L, ^‘gg _z (2a)2

where a is the broad dimension of the waveguide (m), AA is the 
guide wavelength, equal to 2/ where I is the length of the cavity (m), 
and A is the free-space wavelength (rn).

Hence A = ———1----—- metres,t/w + ey}
= ——— ---- — metres’

Vl (7)2+ (W
= —---------T-------- L---------- --------- -  m = 96mm. 

Vt(16O x 10-3)2 + (120 x 10-3)2J
(c) Higher resonant frequencies can be obtained by exriting the 

cavity with a probe or loop in the optimum position for the higher 
mode required. In generaa, different integers for m, n, and I can be 
chosen for the TE,,,,,l and TM,,;„/ modes, where m, n and I represent 
the number of E-iield or M-field half-period patterns repeated 
parallee to the narrow and broad dimenssons, and longitudinally in 
the length of the cavíty, respecttvely. These patterns can occur in 3 
different orientations in a given cavíty.

Q 6 (o) Give 2 reasons why the open end of a rectangidar waveguide 
does not provide a suitable feed for a paraboloidal reflector.

(b) With the aid of carefiilly-drawn diagrams, explain how a 10 GHz 
half-wave dipole coidd be energized by a rectangidar waveguide supporting 
the dominant mode. Show the mounting of the dipole, clearly distin­
guishing between the broad and narrow dimensions of the waveguide.

A 6 (a) (i) The open end of a rectangular waveguide is smaller 
than one wavelength and, therefore, radiates little energy, most being 
reflected back along the waveguide by the impedance mismatch.

(ii ) The energy that is radiated is distributed over a wide angle 
instead of uniformly over the reflector with a suitable tailing-off, or 
tapering, towards its edges, the tapering of the illumination being 
required to reduce the amplitude of the sidelobes.

(b) The sketch shows a method of energizing a half-wave dipole 
radiator from a rectangular waveguide supporting the dominant mode. 
The overall length of the dipole is half a wavelength; that is, 15 mm at 
10 GHz. The dipole is mounted on a conducting plate which bisects 
the narrow walls of the guide. Bring perpendicular to the derinc field, 
84

the plate has little effect on radiation. The eleriric field, E, is split into 2 
parts, which energize their respective halves of the dipole in opposite 
phases. The waveguide is slightly tapered to improve matching.

Q 7 (a) Explain the difference between thermal noise and shot noise.
(b) The signal-to-noise ratio at the input of a microwave receiver is 

25 dB. The radio-frequency amplifier stage has a power gain of 10 and a 
noise factor of 3 dB. This is fodowed by a mixer having a noise factor 
of 13 dB. Calculate the signal-to-noise ratio at the input to the first 
intermediate-frequency stage.

(6) Why is the noisefactor of the mixer much greater than that of the 
radio-firequency ampllfier?

A 7 (a) Thermal noise is caused by the thermal agitation of the 
free electrons inside a resistor. It is equivalent to a generator producing 
a mean-square voltage, e2 = 4kTBR, in series with a noiseless resistor, 
where k is Boltzmann’s constant and is equal to 1-38 X 1O_23 J/K, 
T is the absolute temperature (K), B is the bandwidth (Hz), and R is 
the resistance (Q) and is assumed to be constant over the bandwidth.

Shot noise is inherent in the emission of electrons in, for example, a 
valve, due to the current not being perfectly smooth but consisting of a 
number of moving electrons, each carrying a discrete charge. In a 
temperature-saturated diode, for example, the mean of the square of 
the fluctuating noise component of the current is given by n2 = 2eIB, 
where e is the eleccronic charge and is equal to 1-6 X IQ-19C, and 
I is the current (A).

(b) The overall noise factor N12, of 2 stages of a receiver is given by

xr xr 1 N2 — 1 N1 = N1 + „— ’G1
where N1 is the noise factor of first stage, N2 is the noise factor of 
second stage, and G1 is the gain of first stage, these being expressed as 
power ratios.

Therefore, the noise factor of the receiver, which is the radio­
frequency input signal-to-noise ratio divided by the signal-to-noise 
ratio at the input to the first intermediate-frequency stage, is given by

xu o x. 2° - 1, N12 ‘ 10T
since the noise factor of the radio-frequency amplifier is 3 dB, or a 
power ratio of 2, and that of the mixer is 13 dB, or a ratio of 20,

= 3-9,
or, expressed in decibels,

101ogw3-9 = 5-9 dB.
The signal-to-noise ratio at the input to the first intermediate-fre­

quency stage is, therefore, 5-9 dB worse than at the input to the 
receiver and, hence, is given by

25 - 5-9 = 19-1dB.

(c) A mixer can be considered to consist of 2 equivalent circuits, 
one as seen by the input or the local-osctllator terminals, and the other 
representing the circuit as seen lookingback from theinput to the inter­
mediate-frequency amplifier. The first circuit has a negative gain; that 
is, the conversion loss of the differrnce-frrqurncy output, power 
compared with the radio-frequency input power. In the case of a 
diode mixer, this must be 6 dB or more. The second stage includes 
the noise power due to the average of the square of the noise current 
over the local-oscdlator cycle, together with noise added by the local 
osccilator. The noise factor of the 2 circuits in tandem is given by 
N1 + (N2 — 1)/Gl. The gain of the first circuit, Gb is less than 
0-25 (i.e. —6 dB) and, so, (N2 — 1) is multiplied at least 4 times, and 
degrades the overall noise factor. Furthermore, the noise current 
depends upon the diode current, which has to be large to switch the 
diode rffirientlly. The corresponding currents in the amplifier are kept 
to a minimum to keep the internal noise power low.



BASIC MICROWAVE COMMUNICATION C, 1974 (continued')

Q 8 (a) How does the formation of ap i n diode differ from that of a 
simple 1 n diode . What properties of the p i n diode are of special interest 
in microwave applications ?

(b) Explain, stating one advantage in each case, how ap i n diode may 
be used as

(i) a microwave modulator, and
(ii) a microwave switch.

A 8 (a) A p n diode is a-silicon semiconductor device containing a 
junction between electron-deficient (p-type) and electron-rich (n-type) 
materials.

The p i n diode has a layer of intrinsic (high-resistivity) material, of 
finite thickness, between highly-doped p-type and n-type material, thus 
giving rise to the abbreviation p i n.

At low frequencies, the pin diode rectifies as would an ordinary 
pn junction diode. However, at frequencies above about 100 MHz, 
rectification ceases, and the current is controlled by the availability of 
stored charges in the intrinsic layer that do not have time to 
recombine. The diode then acts as a resistance with a value inversely 
proportional to the charge, the size of which depends upon the 
biasing current. With forward-biasing, the charge is high and the 
resistance to microwave currents low; when reverse-biased, the charge 
is low and the resistance to microwave currents is high.

The device is small, and the impedance is substant¡ally resistive, so 
that it can be built into microwave circuits and used for broadband 
applications.

(b) (/) For use as a microwave modulator, the p i n diode is con­
nected across a strip transmission line or a waveguide. It is connected 
to a biasing circuit as shown in sketch (a). The bias is adjusted to give a 
value of ressstance that absorbs and reflects some energy, but allows 
a proportion to pass to the radio-frequency output. The bias is varied 
in accordance with the output from the modulator, so varying the 
amount of attenuation caused by the diode, and modulating the ampli­
tude of the output. This arrangement can, therefore, be used to 
amplitude modulate the output from a klystron or other microwave 
source without altering the frequency, provided an isolator is placed 
between the source and the modulator. Normally, such a modulation 
system is difficult or impostible to achieve by modulating the power 
supppy to a microwave source.

(a)

(ii) The arrangement for a microwave switch is timilar, and is 
shown in sketch (b). The controlling bias is switched rapidly between 
high and low values, thus changing the resistance of the diode from a 
few ohms to over I kQ, so that the radio-frequency power is switched 
on and off. A greater isolation can be achieved with several diodes 
spaced at quarter-wavelength intervals along the line, to reflect the 
incident radio-frequency power.

controlling ms

RADIO-FUEOUENCY 
cnoxe 

switchei 
------ --------- V-------------------° mTW-FTEoUEHcr 

pin }-------------------- OU™
0liw 1 RADtO-raEQUENCVj CHOKE

(1’
One advantage of the p i n diode switch is that it can be designed to 

work over a broad frequency band, because the impedance of the 
device is free from parasstiic elements.

Q 9 (a) State the highest modulation frequency that could be trans­
mitted by a pulse-amplitude-modulation commurncation system using 
rectangular pulses of duration 80 ¡us and unity mark-to-space ratio.

(b) A 60 mm microwave communication system uses unity mart-tm 
space ratio pulses of duration 5 jus. Give, stating reasons,

(i) the value of the intermediate frequency (IF)suitable for the receiver, 
and

(ii) the bandwidth required in the IF ampllfier.
(e) What are the requirements of the filirrpldcedbrtween the detector 

and video amplifier in such a system as described in part (b)?

A 9 (a) The pulse-repetitionfrequency (PRF) for sampling a modula­
tion frequency/hertz must be at least 2fhertz. One 80 /is pulse occurs, 
followed by a space of 80 ,us. The PRFis, therefore, l/(160 x 10*6) Hz, 
and the maximum modulation frequency is

1
2 X160 X10-6 Hz = 3-125 kHz.

(b) (i) The frequency of a 60 mm wavelength signal is (3 x 108)/ 
(60 X 10'%) Hz = 5 GHz. If I is the intermediate frequency (Hz), 
and the system is one of a number of adjacent systems using the 
available frequency sprctrum, the input filter is required to accept the 
required carrier, say 5 X 109 + Hertz, and reject the image frequency of 
5 X 109 — / hertz. The design of the filter is simplified when the pro - 
portional difference between the 2 frequencies, 21/(5 X 109), is not 
too small. Again, if the difference is very smaH, very good frequency­
stability is required of the carrier and the local osriilator, so that the 
IF falls acceptably close to the centre of the IF amplifier pass-band. 
If, on the other hand, the IF is too high, difficulties may arise in the 
practical conssruction of the IF amplifier, although strip-line techniques 
now make high IFs practical and convenient.

The IF bandwidth required also dictates a minimum value of IF, 
because the bandwidth must not exceed more than about 10-15% of 
the IF centre frequency for practical amplifier designs. A suitable 
frequency, by wrll-establishrd standards, would be 30-70 MHz.

(ii) The system uses a 5 /<s wide pulse followed by a space of 5 us. 
The PRF, /prf hertz, is, therefore, 1/(10x10-6 Hz = 100 kHz. The 
frequency speccrum of a pulse-ampliiudr-modulaied signal is shown 
in the sketch, where the harmonics of fpRF are each surrounded by 
sidebands of up to +/prf/Z hertz. The bandwidth of the IF amplifier 
must cover 0-/prf hertz; that is, it must be 100 kHz wide.

(c) It can be seen from the sketch that the upper sideband of zero 
signal frequency is, in fact, the required video band of 50 kHz, since 
the maximum modulation frequency is half the PRF. The filter be­
tween the detector and the video amplifier should, therefore, be of the 
low-pass type, cutting-off all frequencies abovcppRF/Z = 50 kHz.

Q 10 (a) Diode D1 in the circuit shown in Fig. 2 may be regarded as 
equivalent to a resistance of several megohms when out off, and of 
1^0 when conducting. Calculate the time constant of the circuit for 
each condition.

<b) A pulse generator, of negligible output impedance, supplies to the 
input of this circuit a pair of 100 V pulses of duration 100 us, as shown. 
By means of time-related diagrams, show, for the interval 0-300 us, the 
variation in potentiaa differrncr

(i) across capacitor C1,
(ii) across resistor R1, and
(m) between the output terminals.
(Voltage scales are to be shown on each diagram.)

TIME (is)

O+Z5V

Fig. 2

A 10 (a) The circuit, when diode D1 is conducting, consists of 
capacitor C1 in series with the 1 kii forward resistance of diode DI, 
the 1 Mil shunt resistance of resistor R1 being negligible. The 25 _ 
source in the circuit does not affect the time constant. The time constant, 
11 seconds, is therefore

11 =.1OOC1 = 1OOO X 500 X 10-12S = 0-5 us.
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When the diode is cut off, capacitor C1 is in series with resistor Rl, 
the reverse resistance of diode D1 being assumed to be negligible in 
parallel with the resistance of resistor Rl.The time constant, r2 seconds, 
is, therefore,

52 = C1R1 = 500 X 10-12 X 1 X 105s = 500 #8.

(b) The sketch shows the variation with time of the input voltage 
and the potential differences across capacctor Cl, resistor Rl, and 
between the output terminals.

Capacctor Cl is initially charged to —25 V. When the input voltage 
first increases from 0-100 V, the potential difference across capacctor 
Cl remains at —25Vforan instant, and the potential difference across 
resistor Rl increases from 0-100 V. Capacitor Cl charges with time 
.constant ll = 0’5 ^s, and can be considered fully charged to 
l00 — 25 = 75 V after about 2-5 ,us» while the potential difference 
across resister Rl falls to zero.

When the input voltage returns to zero, the instantaneous voltage 
across resistor Rl is —100 V, and oapacitnr Cl discharges with time 
constant l2 = 500 fus. After an interval of l00 ,us (that, is, when the 
input voltage is next due to change from 0-I00V), the potential 
difference across capacctor Cl has fallen by only l00 (1 — e■r0o/5oo) ~ 
l8V.

Therefore, when the input voltage rises from 0-l00 V for the second 
time, the total voltage applied is l8 V. This instantaneously appears 
as the potential difference across resistor Rl, which falls to zero as 
oapaciitnr Cl recharges to 75 V with time constant ll=0-5,us. 
Thereafter, thecycle is repeated.

The output potential difference is the same as that across resister 
Rl plus 25 V due to the source in the circuit.

ELEMENTARY TELECOMMUNICATION PRACTICE, 1975
Students were expected to answer any 6 questions

Q l (a) With the aid of a sketch, describe a 3-pastiins locking key 
suitable for switching low-power audio-frequency circuits.

(b) Describe the type of contact used in the key and explain the reasons 
for its selection.

(c) Name a suitable contact material

A l (a) The sketch shows a 3-posiiion locking key suitable for 
switching low-power audiofrequency circuits.

LEVER

INSULATED 
BUFFER

RULLEH
PRESSURE 

SPRING

■ SHORT SPRINGS

INSULATION
T-g ■

DIRECTION Of 
MOTION TO NONLUCSINO 

POSITION

main spams 
issuattng bushing

DIRECTION OF 
MOTONTO LOCKING 

POSITION
FIXING

SCREWS
PLUNGER

STEEL BALL^'

FIXING 
SCREWS

CAM
HOLE FORPIN

The lever has 3 positions: norma, locking (when moved to the left), 
and non-locking (when moved to the right). When normal, the lever 
is held in the oenSt■al position by the steel ball which, unde' the influence 
of the pressure spring and plunge’, engages a socket in the cam. This 
device also prevents the lever overshooting the normal porition when 
restored from one of the operated positions. The lever can be made 
unidirectional by inserting a pin in the hole in the cam.

Two short stout springs are placed alongside the main springs and 
enclosed in L-shaped projections on the latter. When the lever is moved 
to the left or right, both a main spring and a short spring are moved by 
the roller to give a change-over spring-set action. When the lever is 
released, it is restored to norma by spring tessins, unless operated to 
the locking position where, because of the absence of an insulated 
bufer, the spring tension holds the roller in the operated position. It 
is then necessary to move the lever slightly towards the normal pntition 
before the spring tension can become effective in restoring the roller.

(b) The contacts used are of the pnini-and-diso type, so that the 
contact force is onsoenlrated in a smith area, thereby ensuring low 
electrioal resistance at the point of contact. The springs have a degree 
of flexibility and there is a sight wiping action which helps to break 
through any surface contamination. Because of the large surface area 
of the discs, perfect alignment of the springs is unnecessary.
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This type of contact is used only for low-power applications since 
the small area of contact is not capable of carrying a heavy current.

(c) A gold-silver alloy is used as the contact material.
Q 2 (o) Draw a labelled sketch of a nns-ponar¡zed relay, and clearly 
mark its magnetic circuit.

(b) Explain why it is necessary to include a residualgap in the magnetic 
circuit.

(6) Two similar relays are wound with the same number of turns on 
their coils. The coil on the first relay has wire of Wce the ornss-seeitonal 
area of.hat used an the second. The first relay is connected to a 6 V 
baftery and the second to a l2 V batter)’. Compare the forces exerted 
mi the lifting-pins of the relays, giving reasonsfor your answer.

A 2 (a) The sketch shows a non-polarized relay; the dashed line 
indicates its magnetic circuit.

(b) A residual gap is included in the magnetic circuit to ensure that 
the relay releasescorrectly when the energizing current ceases. The resi­
dual gap prevents the armature making contact with the pole face and 
forming a closed magnetic circuit of very low reluctance. Such a closed 
circuit retains a considerable amount of residual magnetism when the 
energizing current is'disconnected, making the relay extremely slow to 
release.-With a-residual gap, when the current is disconnected, the 
magnetic flux immediately begins to fall rapidly, so that the relay 
releases quickly.

(c) The force exerted on the armature of a relay is proportional to 
the square of the magnetic flux which, in turn, is proportional to the 
product of the current flowing in the coil and the number of turns on 
the coil. Since the 2 relays are similar, the constants of proportionality 
can be assumed to be the same and, because both relays have the same 
number of turns on their coils, the forces on their armatures depend 
only on the respective currents flowing.

The coil of the first relay is wound with wire of twice the cross­
sectional area of that of the second and, therefore, its resistance is half 
that of the second relay’s coil. However, because the supply voltage to 
the first relay is half that to the second, the current is the same in both 
coils.

Hence, the forces exerted on the lifting pins of each relay are the same.



ELEMENTARY TELECOMMUNICATION PRACTICE, 1975 (continued)

Q 3 (a) State the principal difference between primary and secondary 
cells.

(b) Describe, with the aid of a sketch, a simple Iead-acld secondary 
cll.

(c) Explain, in some detail, why the specific gravity of the dectrolyte 
is an indicator of the state of charge of a cell, and say how the spedfic 
gravity is measured.
A 3 (a) In a primary cell, the chemical reactions which release 
eleciricai energy are not reversible. In a secondary cell, ekccrical 
energy can be supplied to' the cell in its discharged condition to restore 
the chemical make-up prevailing when the cell is charged.

(b) The sketch shows the components of a simple l-ad-acid secondary 
cell. Two interleaved sets of plates, each connected to a bus-bar, are 
immersed in an elecit■olyt- within a glass container. EssentiaHy, in the 
charged state, the positive plates consist of lead peroxide, and the 
negative plates of lead. The nlecit■o!ytn is dilute sulphuric accd.

sulphuric add has a spedfic gravity higher than that of water, the 
specific gravity of the mixture is greater than unity, the actual value 
depending on the proportions of the 2 constituents. In a typical case, 
the spedfic gravity of the nlecirolytn of a fully-charged cell is 1-215. 
The nlnctt■ochnmical processes which take place during discharge, 
result in the conversion of sulphuric arid to water, and this change in 
the relative amounts of the 2 constituents produces a fall in the spedfic 
gravity of the mixture. Because the amount of acid converted is directly 
related to the energy rnlnainl- by the cell, the spedfic gravity is a direct 
measure of the state of charge of the cell.

Specific gravity is measured using a hydrometer, which consists of 
a graduated penci of glass attached to a weighted bulb so that it floats 
in a vertical position. The level to which the hydrometer sinks in a 
liquid is a measure of the spedfic gravity of that liquid. In pure water, 
the level to which the hydrometer sinks is calibratnd as 1-000.
Q 4 (a) With the aid of a diagram, describe the normaa stages of 
a telephone line connecting an exchange and a customer's premises.

(b) For part (a) above, give a description of either
(i) the equipment at a branching point, or
(a) a typical cable used at some spedfiedpoiiit.

A 4 (a) The sketch shows typical elements in a tnlnphonn-nxchange- 
customer's-premises distribution scheme. The main cable is unit-twin 
polyethylene cable, and the branch and distribution cables are twin 
polyethylene cable. Cable conductors can be either copper or 
aluminium alloy, exccep at the main distribution frame and cross­
connexion-point exchange-side terminations, where copper conductors mun; be used. Main cables are pressurized; others are petroleum-jdly- 
rill ed.

EXCHANGE
CUSTOMER’S 

PREMISES

E: EXCHANGE SIDE 
D: DISTfilBUTION SIDE 
DIG; DIRECT IN GROUND

The layout shown is typical, and variations can occur; for example, 
houses on many of the newer estates, and many office buildings, are 
fed by underground leads-in.

(b) Because of the wide choice of options offered, no model answer 
to this part is given.
Q 5 Telephone circuits between 2 large centres may be provided by 
audio cable, coaxial cable or microwave-radio link. By reference to their 
individual characteristics, state the factors that influence the choice in 
particuiar cases.

A 5 Audio cables are normally restricted to one-círcuit-per-pair or 
one-circuit-per-quad working, and are therefore relatively expensive. 
If the route is long, it is necessary to provide amplification at inter­
mediate points. The cable must be accessible at all points for installa­
tion and repair operations. Au audio-cable route need not initially be 
fully equipped with terminal equipment if the traffic requirement is 
less than the ultimate capadty. The terminal equipment is simple and 
inexpensive. Because of these characteristics, audio cables are generally 
used over fairly short distances, and where growth is expected.

Coaxial cables also require full accessíbillty. Many circuits can be 
routed over each pair, but complex and expensive terminal equipment 
is needed, with a potential risk of large-scale failure. Amplifiers are 
needed along the route at fairly close spacings, adding to the cost of 
the system. Coaxial-cable systems, therefore, are generally used where 
large numbers of circuits are required over long distances.

Microwave-radio links need a line-of-sight propagation path, over 
which they provide a large number of circuits.They require expensive 
terminal equipment, but intermediate amplifying stations are widely 
separated. There is a risk of extensive failure unless special precautions 
are taken. Microwave-radio systems are, therefore, used when a large 
number of circuits Is required over long dissances, especially where it 
is impracticable or uneconomic to lay cable.
Q 6 (a) With the help ofa labelled sketch, describe the action of a 
rocking-armature (balanced-armature) type of telephone receiver.

(b) Show the path of the magnetic flux in the receiver, and describe 
the action of the permanein magnet.

A 6 la) The sketch shows the elements of a rocking-armature receiveir.
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The permanent magnet sets up a polarizing magnetic field having 2 
symmetrical parallel paths and, thus, in the absence of a signal current 
in the coii windings, the armature is balanced. The coils are wound in 
series opposition so that, when cur-rent flows, the magnetic field is 
strengthened at one pole piece and weakened at the other, causing the 
armature to move towards the pole piece with the stronger field. When 
the current is reversed, the armature moves towards the other pole 
piece. Hence, the armature is driven in phase with an energizing signal 
.ul'ieti

(b) The magnetic flux paths due to the permanent magnet and an 
energizing signal are shown in the sketch. The direction of the latter 
corresponds to the direction of current flow indicated. The magnetic 
poles set up by the permanent magnetic field are shown in bold type, 
and those set up by the energizing signal are shown in norm! type.

If the magnet flux density at each pole piece, due to the permanent 
magnet, is B teslas, and that due to the energizing signal is b teslas, the 
force of attraction at one pole piece is proportional to (B + b)2 and, 
at the other to (B - b)2. Therefore, the effective force on the armature

oc (B + b)2 - (B - b)2,
= (B2 + 28b + b2) - (B2 - 2Bb + bf,
= 4Bb.

Since B can be made much larger than b, 4Bb can be made much 
larger than bz. Thus, the sentiutvity of the receiver is improved by the 
presence of the permanent magnet. Also, without the permanent 
magnet, the forces of attraction at each pole piece, due to the energizing 
signal, would be equal, and the armature would not respond. (Note 
that there is no possibility of frequency doubling occurring in this type 
of receiver under such conditions.)
Q 7 (a) Name the circuit symbols shown in Fig. 1.
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ELEMENTARY TELECOMMUNICATION PRACTICE, 1975 (continued)

(b) A smtH fixed resistor has a value of 67 k9. Describe, with the 
aid of a sketch, how it can be markedso that its value can be determined 
'from all sides. Explain how a resistance tolerance of 10% 1 mdicaled.

A 7 (a) The circuit symbols are listed below.

(I) Fuse.
(ii) Signal lamp.
(Hi) Transformer with ferromagnetic core.
(iv) Microphone.
(v) Change-over (make-before-break) contact unit.

(vi) Resistor with preset adjustment.
(vii) Plug and socket.

(viU) Variable capaciior.
(ix) Relay between plug-in points (U-points) 5 and 6.
(x) Ammeter with shunt.

(b) The sketch shows a method of indicating the value of a 67 kO 
resitssor by means of coloured bands.

BLUE 
VIOLET 
ORANGE 
SILVER

The colours used, and the values of resistance they represent, are 
shown in the table.

Colour First Band 
(First Figure)

Second Band 
(Second Figure)

Third Band 
(Multiplying Factor)

Gold - - 0-1
Black 0 0 1
Brown 1 1 10
Red 2 2 100
Orange .3 3 1 000
Yellow - - 10 000
Green 5 5 100 000
Blue 6 6 1 000 000
Violet 7 7 —
Grey 8 8 -
White 9 9 —

The tolerance value is indicated by the colour of the fourth band as 
follows.

Silver: 10% tolerance.
Gold: 5% tolerance.
Red: 2% tolerance.
Brown: 1% tolerance.

The absence of a fourth band implies a tolerance of 20%.

For a 67 k9 resistor of 10% tolerance, bands 14 are therefore 
coloured blue, violet, orange and silver respecttveey.

Q 8 (a) List the steps involved in terminating a slngle^strdlnd p/astics- 
insulated wire by soldering to a tag. Indicate at each step what precautions 
are necessary to obtain good results.

(b) Briefly describe one other method of terminating a similar wire.

Q 9 (a)' Explain what is meant by a ssgnalHitg code.
(b) Describe the Morse code, the 5-tmit code ami the 2-out-of-5 code, 

andgive examples of the circumstances in which each is used.

A 9 (a) A signalling code is a means of expressing information in a 
form different from the original, and suitable for transmission over a 
communication system. It implies a means of encoding the information 
at the transmitting end, and decoding it at the receiving end.

(b) The Morse Code The Morse code consists of combinations of 
2 signals of similar nature but of different lengths, in the ratio 1 : 3. 
The signals are called the dot and dash respectively. Each alphabetical 
and numerical character is represented by a unique combination of 
dots and dashes with between l-5 elements, resulting in a considerable 
variation in character lengths. Signal elements are separated by an 
interval equal to the dot, letters by an interval equal to 3 dots, and 
words by an interval equal to 5-7 dots. The Morse code is used for 
hand-sending; that is, where the coded message is generated manually.

The 5-Umt Code Each character in the 5-unit code consists of a 
discrete combination of 5 signal elements, each of the same duration, 
derived from 2 basic signal conditions. As all characters are therefore 
of the same length, no interval is requited between the elements, but 
it is necessary to distingt-ussi between characters. The introduction of 
a single-element start signal before each character, and a 1-5 element 
stop signal after, gives this distinction and, at the same time, provides 
signals that can be used to synchronize transmitting and receiving 
machines. Because of this, and the fact that all elements are of the same 
duration, the 5-unit code is suitable for machine telegraphy.

The 2-Cld-cf-5 Code The 2-out-of-5 code is used to transmit (or 
store) numerical or control information. For 5 possible signals, each 
having an on state and an off state, there are exactly 10 arrangements 
by which 2 of the 5 signals can be in one state while the remaining 3 
are in the other. Thus, for numerical information, each of the 10digits 
1 -0 is uniquely coded by one of these 10 arrangements. The signals 
may tonsist, for example, of a combination of 2 voice-frequency tones 
transmitted simultaneously out of 5 possible tones available, or of 
d.c. conditions applied to 2 wires of a group of 5 wires. As each of the 
5 possible signals has 2 states, a signal combination can be stored on 
any group of five 2-state devices. One application of the 2-out-of-5 
code is in the multi-frequency signalling system used in the trunk 
transit network. Here, control information in the backward direction 
is coded in 2-ffrquencies-0lUt-cf-5 form, filters being used to separate 
the frequencies at the frceiving end for decoding purposes.

Q 10 (a) A panrl-moumrd amplifier is redesigned to have similar 
rlrctrical characteristics, but be mounted on a printed-circuit board. 
With the aid of a sketch, describe the gmet-al construction of the new 
design.

(b) Write briefnotes on the diffe-rnltr between the 2 designs in respect 
ci 'he

(i) size,
(ii) replacement of faulty components, and

(Hi) ease of conssruction.

A 10 (a) See A3, Elementary Telecommunication Practice, 1972, 
Supplement, Vol. 66, p. 7, Apr. 1973.

(b) (1) An amplifier designed for manufacture on a printed-circuit 
board uses modern lightweight components, and is small in size and 
weighs little.

((ii) Identification of components is .more readily achieved on a 
printed-circuit board because the components are individually mounted 
rather than being suspended in the wiring, as is the case in the more 
traditional designs. In replacing them, however, it is necessary to use 
components of similar size and configuration, and care is necessary to 
avoid damage to the printed-circuit board and its tracking.

(iii) The ccnsiructicn of a prototype printed-circuit board is a long 
and laborious process that requires detailed physical desgn work 
before conssruction can begin. However, once the design is complete, 
printrd-circuit boards can readily be mass-produced, and less skill is 
required than was needed in traditional methods of manufacture.

PRACTICCA. MATHEMATICS, 1975

Students were expected to answer any 6 questions

Q 1 (a) Solve the simultaneous equations
—a + 3b = 5and5a-— 2b = 12, 

ami show that the values of a rnnd b also satisfy the equation 
2a — b = 5.

tf3Ri + 2R2 12 Rl
W " 3R1------ R2 = 12’ find the value of aril — 52 / Ri
(c) Express, as one fraction, (3% — 2%) X -7%.

A1 (a) 4a + 3b = 5, ....... (11
5 - 2=12. .........  (2)

Multiplying equation (1) by 2 gives 
8 + 6 = 10. ......... (3)

Multiplying equation (2) by 3 gives 
15a - 6 = 36. .........  (-)
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PRACTICAL MATHEMATICS, 1975 (continued)

Adding equations (3) and (4) gives 
23a = 46.

.‘. a = 2.

Substituting for a in equation (1) gives

8 + 3b = 5. 

3b = - 3.

b = - 1. ,

Substituting for a and b in ihe equation 2a — b = 5 gives, for the 
left-hand side, 

2a - b = 4 - (-1) = 5,
% the right-hand side.

Hence ihe values obtained for a and b also satisfy ihe equation 
2a - b = 5.

3R1 + 2R2 _12
O’) 5R- Rz 7

Cross-mulliplying ihe equation gives

21R1 + 14R2 = 60R1 - 12R2.
A 26R2 = 39R}.

. &i=§=Z’ 'R2 39 3_
/7 19\ 64

(c (3_2%x<4 = 57-T) Xfi4

_28 - 19', 64 
_ 8 X 15’

To obtain ihe value of R, ihe co-ordinates of any point on ihe 
graph, together with ihe value of V obtained above, are substituted 
in the equation 1 = V — iR, Taking the co-ordinates at point A 
(0-7, 300) gives

300 = 350 - 0-7R.
A 0-7R = 50.

*_£ = 71-43.

Q 3 (a) The measured distance between ihe readings 5 and 2 on a 
Side-rule scale calibratedflrom 1-10 is 796 mm.

(i) Calculate the measured length of the full scale.
. (ii) Illustrate your answer with a sketch.
(b) Using a Side-rule, or otherwise, calculate the values for

(1) R, where R = o-R+-R2 and R) = 13 and R2 = 16, and 
j<i + Rz
Li 2 . _ . ....................... ,

(n) E, where E = -2-, andL = 3-64 and 1 = 5-36.

A 3 (a) (i) D--tances along a slide-rule scale are proportional io the 
logarithms of ihe numbers shown on the scale. Since loglo 2 = 0-301 
and loglo 5 = 0-699, the measured distance of 79-6 mm is pro - 
portional io the difference between 0-699 and 0-30); that is, 03198. 
The total length of the scale is proportional to the difference between 
loglo V0 and loglo 1; that is, unity.

Hence, 0-398 o 79-6mm.
79-6

■. 1 am = 00° mm.
Therefore, ihe measured length of ihe full scale is 200 mm.

W(0) (0-301)

NUMERICAL 
MARKED 

SCALE

79'6mm

(0699)

8 9 10

— PHYSICAL 
DISTANCE 

PROPORTIONAL
OO

LOG ARITHM 
OF 

NUMERICAL 
SCALE

• 200 mm'

Q 2 When a capacitor discharges through a resissor, ihe current, 
iamperes, is related io ihe voltage, v volts, across ihe capacctor by 
ihe expression v = V — iR, where V and R are constants.

(a) Draw a suitable straight-line graph of 2 against 1 using ihe table 
of values given below.

v(V) 50 100 150 200 250 300

1'mA) 41- 28 3-54 2-82 2-14 l - 40 0 - 70

(b) It can be seen from ihe graph that the plotted points lie almost 
exaccly on a straight line and, hence, ihe values given in the table 
conform very closely to the law 1 = V — iR.

When i = 0, v = V. Hence, ihe value of V may be estimated by 
extending ihe curve io ihe vertical axis- and reading off ihe value of 
v at i = 0. ■'

From the graph, when i = 0, v z 350 V.

.V V= 350 V.

(ii) The sketch illustrates the lower (1-10) scale of ihe slide of a 
slide-rule. For clarity, most of ihe intermediate markings have been 
omitted. li can be seen that the numeral 5 occurs not half-way along 
ihe scale, but at approximately seven-tenths of the actual distance 
between markings 1 and 10. Because of its logarithmic nature, ihe 
scale is more open at the left-hand end, towards unity, and ihe numbers 
increasingly bunch together towards the right-hand end.

(b (i) _ RAel^.
R1+R2

Substituting the values given,
13 x 16

A 13 + 16’
13 x 16

29 ’
= 7-17, by Side-rule.

Note: The accurate value for R is 7-172, io 3 decimal places.

Substituting ihe values given,
„ 3-64 _ =
E = —2- x 5-362,

= 1-82 X 5-362, 
= 52-3, by slide-rule.

Note: The accurate value for E is 52-288, to 3 decimal places.

Q 4 (a) Evaluate, using mathemitical tables, 
(i 98-54 x 8-161 

4287 x 0-0002025’ an

(ii) 1/0-462 - V0-0952-
(b) (i) Express in terms of log 3, without using logarithmic tables, 

log 9 and log81. ‘
(ii ) Hence, or otherwise, find the value bf that satisfies the equation

3log3 + log 9 — tog 81 = x tog 3.
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PRACTICAL MATHEMATICS, 1975 (confirmed

A 4 (a) (0
93.54 x 8-161 

mm x o-0002025’ (b) £o: + 1) - §(1 - 2r) = £(r + 1).

Evaluating the numerator and denominator by logarithms:

DenominatorNumerator

Number Logarithm Number Logarithm

98-54 1-9936 4287 3-6322
8-161 0-9117-+ 0-0002025 Z-3064-+

2-9053 T-9386

Multiplying the equation by 12 gives 

3(3t +1) - 4(1 - 2t) = 6(t + 1). 
A 9 + 3 - 4 + 8i = 6t + 6. 

.'. 9 + 8t- 6t = 6 - 3+4.

. '. 11 = 7.

Evaluating the division of tire numerator by the denominator by 
logarithms and taking the anti-logarithm of the result:

(c) N = -J^L.
E — ir

A NE - Nil- = iR.

Number Logarithm

2-9053
1-9336—

926-2 2-9667

A iR + Nir = NE.

. 1 t(R + NW = NE.

7" t-n-

• i = NE . ’ 1 R + NI

. 98’54 x 8-161
'" 4287 x 0-0002025 ——

(ii) VO-462 - V0-0952 = 0-6797 - 0-3085
from a table of square roots,

= 0-3712.
(77 (i) tog 9 = log 32,

= 2i0g 3.
log 81 = log 34, 

. = 410g 3.

(H) 310g 3 + log9 — log 81 = x log 3.
3log3 + 21og3 — 4!og3 = x log3.

Dividing throughout by log 3 gives

3 + 2 - 4 = x.
.'. x = 1.

Q 5 (a) When a battery of internal resistance 2 Q is connected in 
series with an external resistance of 10 Q, the current flowing is 2 A. 
Calculate

(i) the e.m.f. of the battery, and
(ii ) the current flowing when the external resistance is 6 91.
(b) Solve the following equation for t:

2(31 + 1) - 3(1 - 2W §( + 1).

(c) If N cells, each with internaa resistance r ohms, are connected in 
series with an external resistance, R ohms, then Nisgiven by the formula

Reai-range this formula to make i the subject.

A 5 (a) The sketch illustrates the circuit arrangements. Let E be 
the e.m.f. of the battery (V), R be the value of the external resistahce 
(Q), r be the value of the internal resistance (9), and I be the current 
in the circuit (A). By Ohm’s law,

(i) When R = 10 91, 

(ii) When R = 6 £2

E = I(r + R) volts.
E = 2 < (2 + 10) = 24 V.

24 = 1(2 + 6) volts.

.0 1 = ?4 -3A o ----

INTERNAL 1 
RESISTANCE' EXTERNAL 

RESISTANCE

.

Q 6 (a) Use the approximate conversion 5 ft = 1-52m to evaluate
(i) 11 ft in metres, to 2 decimoi places,
(ii) 5-6 m in feet and inches, to the nearest inch, and
(iii) 8 yd2 in square metres, to 2 deccimd places.

(b) Simplify, giving your results with poxitive indices only,

(0
(H)

2x-2
X-3 ’

V((25a4b2), and

0”) 1 - 4x2 
x + 1 '

(c) Evaluate 2(x + y)2 — (y — z)2 — 22 when x = — 3, y = I and 
z = — 2.

A 6 (a) (i) If 5fitci-52m,

then tn 1,521 ft 2 —5-3 m.
. iJft„ 1-52X11 _ 11fl : 3-34m.

(H) 1-52m ~ 5 ft.
■■■ lm=ins"

A 5611 933.6“’
= -- ft, 1-52 ’

Number Logarithm

28
1-52

1′4472
0-1811 —

18-42 1-2654
= 18-42 ft,
= 18 ft + (0'42 X Kin),

= 18 ft 5 in.

(iii) From part (i),

1ft -N;-^ = 0 304m. Number Logarithm

Now,

•. 1 ft2 c 0•3(4(m(.
1de = 9fZ.
8yd2 = 72 ftz,

0-304
'0-304

T-4829
I-X18294-

72
2‘9658
1-8577 +

= 72 x 0-304^ nF, ’
= 6-654 m2

6-654 0-8231

= 6-65 m2to 2 decimal places.
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(b) 0)
2x~2 _2X-2^3_AL

(ii) V-SaW-) = Sa2b.

W)
1 — 4x2 (1  2x)(1 + 2x) _ 1 2
2x +1 2x + l ------ -

(c) 2(x+y)2 - (y- z)2 -22 = 2x<-3 + 1)2 - (1 + 2)2 _ (-2)2,

= 2X4 - 9-4 = -5.

Q 7 ((1) Fig. 1 shows a coastgtuu d station at the top of a cliff, 1CC ,11 
above sea level. A ship is observed from the station due east at an angle 
of depression of 10°. After 1 min, the angle of depression is 6°. 1f the 
ship is travelling due north,

(i) show that AB = 567 m and AC = 951 a, and
(ii) calculate the speed of the ship in kilometres/hour.
(b) Evaluate, using matheiiaftcal tables,
(i) sin 63° =h',
(ii) tan 42° 35, and
(iii) cos 76° 49.

Fig. 1

A 7 (a) (0 When the ship is observed to be due east of the coast­
guard station, the angle of depression is as illustrated in sketch (a). 
1n triangle DAB,

EDA = tan 10°.
AB

AB 100
6 no

= 567-1m,

Number Logarithm

100 
0-1763

4-3333
1-2/463-

567-1 2-7537

= 567 m (to 3 significant figures): QED.

The angle of depressson 1 ain later is illustrated in sketch (b). 1n 
triangle DAC’

QLD.

= tan 6°. 
Ac

Number Logarithm

400 2-0000
AC- 100 0-1051 h■024h6-
AC 0.1051’

= 951-4 m,

—
951-4

---------------
2-9784

= 951 m (to 3 significant figures).

(ii) The path of the ship at sea level is shown in sketch (e). Since the 
ship is travelling due north, and AB is in an easserly direction, L.ABC 
is a right angle. By the theorem of Pythagoras,

BC2 = AC2 - ABZ,  
_ 9512 _ 5672 Number Logarithm

=<951 ■ «w»1*«), 1314 2-1113+

= 384 X1518,-------------------------------  
582 900 5-7656 

= 582 900.

.•. BC = 763-5 m from a table of square 1OQ15.

Thus, in 1 min, the ship travel 763.5 m. Therefore, the speed of 
the 5hip 

763-5 x 60 „ o, , „
—---- mTrs---- ~ 45-81 km/h. 1000-------------- !—

(b (0 sin 63° 21' = 0+938. 
(u) tan 42° 35+- 0 + 190.
(iii) cos 76° 49' = 0-2281.

Q 8 (a) The angles ofa triangle, in degrees, aregiven by the expressions 
x, 2x — 24 and 3x — 30.

Calculate the value of x and the values of the other 2 angles.
(1) Solve the following equations:
(0 2sinA = 1-462,
(//) tan B = 0-8,
(iii) antilogx = 13-58, and
(iv) Ri = 9-426.

A 8 (a) The sum of the angles of a triangle is 180°.
.■. x• + 2x - 24 + 3x - 30 1100°.

.‘. 6x = 180° + 54° = 234°.
x = 39°.

Evaluating the other 2 angles gives
2x _ 24 - > < 39 ° 24° = =$

and 3x - 30 z 3 X 39° - 30° = 87°.
(b) (Q 4sinA = l■434.

.° SnA =0-731.
A A = 46° 58'.

(a) tan B 2 0-8.
.-. b = 380 40'. —

(Hi) antilogx = 13-58.
:. x = 1-1329. 

— ■
(iv) 10'= 9426.

£ Mogio 10 = togi0 9-426.
.•, t = 0-9743.

Q 9 (a) A template is made from a circular sheet of metal of radius 
80 mm, as shown in Fig. 2. The shaderlpa-ts are cut away. Calculate

(i) the area of the eqiuhateral triangle ABC,
(ii) the area of the segmeent BCD, and
(iii) the tota area of the template.
(b) A mdal tank consists of a right circular cylinder, of length 

4i4a and diameter 4-4a,,with heas>lu!er<^C’l ends domed inwards. 
Neglecting the thickness of the maternal, calculate the mternil capacity 
of he tank.
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A 9 (a) The circular sheet of metal is shown in sketch (a). Since 
triangle ABC is equilateral, it is also equiangular and, hence, A_A = 
LB 2 L/C = 60°. Also, the radius OA bisects L_A and, therefore, 
ABAO = /_CAO = 30°.

If points B and Oarejoined,andthelineCOE is drawn perpendicular 
to AB, then OE divides triangle ABO into 2 equal triangles ABO and 
BBQ.

(1) In triangle AEO,

F.OE0 = Sm 30o.AO

EO = 80 X 0-5 = 40 mm.
FAAlso EVA = cos 300
AO
EA = 80 x 'T3 = 40V3 mm.

Now, the area of triangle AEO

= % >EO XEA, 
40x 40^3 ,=------- ■!_ mmZ,

J—
= 800y3 mmZ.

Therefore, the area of triangle ABO

= 1600V3 mmZ,

From the symmetry of the figure, 

AABO = AAOC = ABOC.
Hence, the area of triangle ABC

= 3 X 16000/3 mm2,
= 8314 mm2.

(ii) Now, the area of circle ABC 
= 77 X 802 mmZ,

Therefore, the total area of the 3 segments formed by triangle ABC 

= 640077 - 8314 mmZ, 

= 11 792 mmZ.
Since the 3 segments are of equal area, the area of segment BCD

11792 
3

= 3931 mmZ.

(iii) The total area of the template

= area of AABC + area of segment BCD, 

= 8314 + 3931 = 12 245 mmt.

(b) The tank is shown in sketch (4). The 2 hemispheric! ends 
together form a sphere with the same diameter as that of the cylinder.

(i)

Therefore, the internal capacity of the tank is given by the volume 
of the right cylinder minus the volume of a sphere of the same diameter, 
and is equal to

.. 4 .--2h — jlTS 

where r is the radius of the sphere or cylinder (m), and h is the length 
of the tank (m) Thus, the internal capacity

-2(‘ By

= - > 1-22 X (4-2 - ^X^ll) m3, 

211-447 X (4-2 - 1^6)m3,
= 1 -44fi X 2-6 m3, 
= H-76m3.

Q 40 (a) (i) The efftciency of an alternator varies according to the 
power developed. Using the table of values below, draw the graph of 
efficiency/power, with power as the horizontal axis.

(ii) Determine from the graph, as accurately as possible, the power 
generated with an efficiency of 68%, and the efficiency obtained with a 
power of 43 kW.

(b) Calculate the percentage error incurred by using 4'60 as an 
approximation to 4-454.

EficieHcy(%) 40 55 65 73 81-8 85-9 87

Power (kW) 20 25 30 35 45 55 61

A 10 (a) (i) The graph of efficiency/power is shown in the sketch.

POWER (kW)

(ii) From the graph, when the efficiency is 68 “D, the power generated 
is 31-5 kW.

Also, when the power generated is 43 kW, the efficiency is 80-5%.
(b) Now, 1-154 = 1-749.

Number Logarithm

115 0-0607
4x

1-7490 0-2428

Therefore, the percentage error in using 1-60 as an approximation 
to 1-154

Z '"U/49 X 100%’ Number Logarithm
1-749 /D

14-9 1-1732
= -Î1)b'00°í»

= - 8-52%.

1-749 0-2422 —

8-519 0-9304

Note: The negative sign indicates that the approximate value is below 
the true figure.

92



ENGINEERING SCIENCE, 1975

Students were expected to answer 2 questions from QI-4 and 4 questions from Q5--I0

Q 1 (a) State the principle of moments, and give the SI unit for the 
moment of a force about a point.

(b) A uniform beam, AB, of mass5-0 kg and length 1-6 m is hinged 
to a wall at A, as shown in Fig. t. It is .supported horizontally by a wire, 
BC, of circular cross-section.

(i) Find the tension in the wire.
(ii) Calculate the tensile stress in the wire if it has a diameter of 

I ‘2 mm.

(b) Force is equal to mass multiplied by accelet■allon. tn this case, 
the braking force is equal to the mass of the car multiplied by its 
deceleration.

Therefore, the braking force applied to the car

= 800 X 3 = 2400 N,
(c) Distance travelled is given by the average speed over a period of 

time multiplied by that period of time.
As the change in speed is uniform, the average speed

Fi'. 1

144 + 36 „=----=----= 90 km/h.
2

Therefore, the distance travelled during the braking time

- 90 x 1000 x 10 = 250 m. 
3 OUU ------- —

(d) The energy dissipated during the braking time is the difference 
between the kinetic energy of the car before braking and the kinetic 
enei'gy of the car after braking.

Now, kinetic energy = ^vnajoules,

A 1 (a) The principle of moments states that, if a body is at rest 
under the action of several forces, the total clockwise moment of the 
forces about any axis is equaa to the total counter-clockwise moment 
of the forces about the same axis.

The moment of a force about a point is the magnitude of the force 
multiplied by the perpendicular distance from the point to the line of 
action of the force. The SI unit for the moment of a force about a 
point is, therefore, the newton metre.

(b) (i) As the beam is held in equilibrium by the wire, the clockwise 
moment about A must equal the counter-clockwise moment about A.

The mass of the beam is considered to act through its mid-point; 
that is, at a distance 0-8 m from A.

Therefore, the clockwise moment about A
= 5-0 X 9-81 X 0-8Nm,
= 39-24Nm.

where m is the mass (kg), and v is the velocity (m/s). 
Therefore, the energy dissipated

= %mv12 — %mv22 joules,

where ’“1 and v; are the initial and final velocities t•esprcti,vclly,

= %m(vi2 — v22) joules,

= 2 X 800 X (1442 - 362) X (^yj, 

= 600 kJ.

The counter-clockwise moment is due to the tension in the wire and 
must equal 39-24 N m.

.'. tension in wire X 1-6 = 39-24.
39-24.'. tension in wire = % , N, I o

= 24-53 N.

(ii) Now, tensile stress = tension 
cross-sectiona. area

Therefore, the tensile stress in the wire
24-53 newtons/mehe2,

where d is the diameter of the wire (m),
24-53 ,

7 x 0-62 x 10-6N/m ’

= 21-69 X 106 N/m2.

Q 2 A motorist, timveding at 144 km/t in a car of mass 800 kg, 
observes an obstruction in the road and applies the brakes, which reduce 
his speed uniformly to 36 km/h in a time of 10 5. Find

(a) the deceeeration when the brakes are applied,
(6) the braking force applied to the car,
(c) the distance travelled during the braking time, and
(d) the energy dissipated during the braking time.

Q 3 (a) Describe 3 ways in which a hot body can transfer heat to its 
surroundings, andgive an example in each case.

(b) A 'central-hearing system has a solar heat-exchange- having an 
effective area of t - 5 m2 and containing 30 kg of water. Find the tempera­
ture rise of the water in 10 min, assuming that the sun provides 10k W/m2 
at the earth's surface. (The specific-heat capacity of water is 4-2 X 
103 Jfikg K), and the efficiency of energy transfer is 60%.)

A 3 (a) The 3 ways in which a hot body can transfer heat to its 
surroundings are by conduction, convection and radiation.
Conduction When a body is heated, the absorption of energy by the 
body causes an increase in the thermal vibration of the molecules of 
that body. The increase in vibration is passed from molecule to mole­
cule until all parts of the body are affected. If one end of a poker is 
placed in a fire, that end becomes very hot. After a while, the other end 
31s? becomes very hot, due to the conduction of heat energy along the 
poker.
Convection If a body is at a higher temperature than the medium 
surrounding it, heat energy is transferred from the body to the medium. 
tf that medium is a gas or liquid, it becomes less dense in the region of 
the hot body, and the less-dense parts of the medium therefore rise, to 
be replaced by cooler more-dense parts of the medium which, in turn, 
absorb heat energy, become less dense and also rise. Heat can, 
therefore, be transferred by convection currents in a gas or liquid. 
Air heated by an open fire rises up a chimney, and a cold draught can 
be felt in the region adjacent to the fire, due to the movement of cool 
air replacing that which has risen up the chimney.
Radiation Any hot body radiates heat energy in the form of electro­
magnetic waves, which can then be absorbed by another body in their 
path. This form of heat transfer does not require the presence of a 
medium between the 2 bodies. The heat of the sun felt on a sunny day 
is due to electromagnetic radiation.

(b) The effective area of the heat exchanger is 1-5 m2, and the 
power provided by the sun is 10 kW/m2. Therefore, the total power 
available

= l-5kW.

A 2 (a) Deceleration is the change in speed divided by the time for 
that change io take place.

Now, the change in speed
.... 3000 ,A ,= (144 ■ 36) X m^ = 30m/s.

juUU
Therefore, the deceleration when the brakes are applied

...
10 = 3 m/s2.

The energy available (J) is given by the power (W) multiplied by the 
time (5). Therefore, the energy available in 10 min

2 F5 X 103 x 10 X 60J,
= 900 kJ.

As the efficiency of energy transfer is 60%, the useful energy available 
to heat the water

= 900 x 103 X 160jJ,
= 540 kJ.

o-;
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Since 4-2 X 103 J are required to raise the temperature of 1 kg of 
water by 1 K, the rise in temperature of 30 kg of water due to 540 kJ 
of energy

54o X 103 K
4-2 X103 x 30 K’

~ 4-3 K.

Hence, from equation (2),

R = W — Pv newtons,

= W — Ph tan 30° newtons,

= 15 X 9-81 - 26-38 X 0-5774N,

= 131-9N.

Q 4 (a) State what is meant by the coefficient of friction between 2 
plane surfaces.

(b) A box afmass 15 kg is pulled with uniform speedalong a horizoinal 
surface by a rope. The coefficient afficctom between the box and the 
surface is 0-2.

(i) Find the tension in the rope if it acts parallel to the surface.
(ii ) Find the normed reaction between the box and the surface if the 

rope is rearranged to make an angle of 30° with the horizonnal.

A 4 (a) The coefficient of friction, ,u between 2 plane surfaces is 
the ratio of the frictional force, Fnewtons, which is to be overcome in 
moving one surface over the other to the normal reaction between the 
surfaces, R newtons. It is constant for a given pair of surfaces.

Thus, F
,=R-

(b) () From equation (1), F = pR, and, for a body on a horizontal 
surface where the pulling force is parallel to the surface, the normal 
reaction is equal to the weight, W newtons, of the body. Also, since the 
box moves at uniform speed, the pulling tension, P newtons, in the 
rope equals the frictional force, as illustrated in sketch (a).

.'. P = flWnlwtons,

= 0-2 X 1 X 9-81N,

■ = 29-43 N.

(H) The forces acting on the box are shown in sketch (b). The pulling 
tensson can be resolved into a horizontal component, Ph, and a vertical 
component, Pv.

Because the box moves at uniform speed, the frictional force equals 
the horizontal component of the pulling tension; that is, F= Ph new­
tons. Also, the vertical component of the pulling tension is tending to 
lift the box and, therefore, assists the normal reaction in supporting 
the weight of the box, so that

R = W -Pv newtons. ....... (2)
Therefore, sUlsiiiuting in equation (1) gives

Q 5 (a) What is meant by a linear resistor?
(b) The e.m.f ofeach cell in Fig. 2 is 2-0 V, and the internal resistance 

of each cell is 0-20 91, Find
(i) the current in the 4 Q resistor when switch S is connected to A,(ii the voltage across the 4 Q iesislor when switch S is connected to 

B, and
(70 the total energy dissipated by the 4 Q resisior in 20 s when the 

connexion to B is used.

Hg. 2

A 5 (a) A linear resistol■ is one in which the voltage and current are 
always proportional to each other, assuming that the temperature 
remains constant.

(b) (i) With switch S in posstion A, the 4 Q resistor is connected in 
series with 2 cells, also connected in series.

The total e.m.f. in the circuit is, therefore, 2 X 2 V = 4 V, and the 
total internal resistance of the 2 cells is 2 X 0-2 9 = 0-4 91.

Thus, the total resistance in the Circuiit is 4 + 0-4 = 4-4 i2, and, by 
Ohm’s law, the current in the circuit, and hence in the 4 £2 rltistor,

= 0-91A.

(ii) When switch S is in position B, the 4 Q resistor is connected in 
series with 2 cells in parallel. The total e.m.f. in the circuit is, therefore, 
2 V.

The total internal resistance of the 2 cells in parallel is given by the 
formula for the total resistance of 2 resistors in parallel,

Et Ri Ri

where Rt is the total resistance (Î2), and Ri and R2 are the values of 
the resistors (Q).

A E 0-2+m m3
Rt = T^2 oi§2.

Thus, the total resistance in the circuit is 4 + 0-1 =4-1 (2, and, 
by Ohm’s law, the current in the circuit

2___ PH_____
W - Ph tan 30°

11W - /uPHtan 30° =Ph

• n /'W■ • Ph = ™ newtons," 1 + ‘( tan 30°

0-2 X15 > 9-81 ..
1 + 0-2 x 0-5774 N

= 26-38 N.

Therefore, the voltage across the 4 Q resistor

=H2X4V-
= 1-95 V.

(iii) Power is the rate of doing work and, in an lllciriial circuit, is 
equal to the square of the current multiplied by the resistance. Hence, 
the power dissipated by the 4 Q resistor when connexion B is used

= ^)‘>^W.
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The energy dissipated in a given interval is the power multiplied by 

the time. Hence, the energy dissipated in the 4 Q resistor in 205

= fi)/ x 4 x 2°1

- 19 J.

Q 6 (o) Give a detailed explanation of the term temperature coefficient 
of resistance when referred to a particular base temperature.

(b) The resistance of a copper coil an a transformer is 3-20 9 at 
20°C. After current has passed for some time through the coil, the 
resistance attains a steady value of 3'80 Q. If the temperature coefficient 
of resistance of copper is 3 -9 X 10 ‘3/°C at 0°C,fimt the final temperature 
of the coil.

A 6 (a) The temperature coefficient of resistance is defined as the 
change in resistance of a material due to a temperature rise of J°C, 
expressed as a ratio to the resistance at a base temperature of 0°C. For 
example, if a material has a temperature coefficient, a, of 0-002 /°C, 
and has a resistance of Ro ohms at a base temperature of 0°C, its 
resistance increases by 0-002R- ohms for every PC rise in temperature 
above 0°C. Hence the resistance, Rt ohms, of a matera at any 
temperature is given by

Rt = Ro (J + otT)ohms, .........(1)

where T is the change in temperature from 0°C.
(b) From equation (J), the resistance of the coil at its base tempera­

ture of 0°C is given by

„ Rt ..Ro = 7-, ohms,R J+cT
3-2 _=---------------------------  = 2-97 £21+ 3-9 x 0~ 3 x 20 2 97 9'

Also, from equation (J), the change in temperature from 0°C when 
the resistance of the coil is 3-8 Q is given by

S^1
T = —------ degrees Cels.us,oc

3-8 j 
2-97 1

= 32rxK03 - 7J-70C

Hence the final temperature of the coil is 7J-7°C.'

Q 7 (a) Distinguish between primary and secondary cells.
(b) Describe one test ihai can be made to assess the state of charge ofa 

lead-acid cell.
(c A leakage current of 3-0 A flows from a leatl-cove-ed cable into 

moist sod. If the nlnctt■ochnmical equivalent of lead is 11 x 10’5 kg/C, 
what mass of lead is removed from the cable in 24 h .

A 7 (a) A primary cell consists basically of 2 electrodes, of dis­
similar metals, immersed in an rlectrolytr. The resulting chemical 
anion. produces an em.f. across the terminals of the electrodes. 
Chemical energy is thus converted into eledrical energy but, in a 
primary cell, this process cannot be reversed. The store of energy in the 
cel can be renewed only by replacement of the active constituents.

A secondary cell usuaHy consists of 2 lead plates covered with lead 
compounds and immersed in dilute sulphuric add, Chemical energy is 
again transformed into electrical energy but, in this case, the process 
1 reversible, and the secondary cel can be recharged from an external 
source.

(b) The state of charge of a knd-acid cel can be assessed by means 
of a.hydrometer, which is an instrument that measuree the specific 
gravhy of the deccrolyte in the celt The spedfic gravity varies from 
about I-I75 (for a cell that is discharged) to I-2I5 (for a cell that is 
nhar-nd), and is directly related to the state of charge ofthe cell. This 
Is because the concentration of the decCroiytn is strengthened during 
the charging period and is weakened during the discharging period, 
due to the chemicai action within the cell.

A typical hydrometer consists of a weighted glass bulb with a 
graduated stem that floats upright in a liquid. The stem rises higher 
°ut of the Equid if the Equid becomes more dnnse, and sinks lower- if 
the liquid becomes less dense. The stem is calibrated to read directly 

the specific gravity of the liquid in which it is floating. The hydrometer 
is allowed to float freely in the electrolyte of the cell and, by noting 
the electrolyte level against the graduations on the stem, the spedfic 
gravity of the eledi-olyte, and hence the state of char ge of the cell, can 
be determined.

A correction may be required, as the spedfic gravity varies inversely 
with temperature. Hydrometers are calibrated at I5-5°C, and an 
allowance must be made for each degree Celsius above or below this 
temperature.

(c) In 24 h, the quantity of eleccricity that leaks from the cable
= 24 x 3600 x 3-0 = 259-2 x W3C.

Since the electrochemical equivalent of lead is I-I X IO-6 kg/C, 
the mass of lead removed in 24 h

= l-I X 10-6 X 259-2 X I03 kg,

= 0 29 kg.

Q 8 (a) State Faraday's law of electromagnetic induction.
(b) What factors determine

(I) the magnitude, and
(ii) the direction

of an induced e.m.f. in a cod?
(c) An alternating voltage, of r.m.s. value 10 Vandfrqqtmncy 200 Hu, 

is applied across a pure resstor. Sketch a graph to show how the voltage 
across the resistor varies with time over a period of 0-010 s.

A 8 (a) Faraday’s lawofrlectl■olaagnelicinduction states that, when a 
magnetic flux linking a conductor changes, an e.m.f. is induced in the 
conductor whose magnitude is proportional to the rate of change of 
flux.

(b) (i) The magnitude, e volts, of an e.m.f. induced in a coil rotating 
in a magnetic field is given by

e = 2NBIv sin 0 volts,

where N is the number of turns on the coil, B is the flux density of the 
magnetic field (T), l is the length of the side of the coil parallel to the 
axis of rotation (m), 1 is the velocity of the coil (m/s), and 0 is the angle 
one side of the coil makes with the direction of the magnetic field at 
the instant under- consideration.

(ii) The direction of the induced e.m.f. depends on the directions of 
the magnetic field and 0f the motion ofthe coil. For one side of one turn 
of the coil, the direction of the induced e.m.f. can be determined by 
Fleming’s right-hand rule, which states that, if the thumb and first 
2 fingers of the right hand are held mutually at right angles with the 
thumb pointed in the direction of motion and the first finger in the 
direction of the magnetic field, the second finger indicates the direction 
of the induced e.m.f. It is found that the induced e.m.f.s in the opposite 
sides of the coil are of opposite polarity and, therefore, act in series­
aiding.

(c) At afrequency of200 Hz,the period of I cycle is I/200 = 0-005 5. 
Therefore, over a period of 0-0I0 s, 2 cycles occur.

The peak value of the voltage is V2 x the r.m.s. value; that is, 
\/2 x 10 = 14-14V.

The variation of voltage across the resistor with time is shown in the 
sketch.

Q 9 (a) What 3 properties are desirable in materials ussefor perma­
nent magnets .

(b) With the aid of sketches, describe the magnetic path and the 
distribution of magnetic flux for a permanent magnet suitable for use in 
a moving-coil metor.

(c) Find the maximum force that can be exerted on a straight wire of 
length 0-2 m, carrying a current of 0-5 A, if it is placed in a uniform 
magnetic field of flux denssty 0-4 T.
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A 9 (a) The properties desirable in a material used for a permanent 
magnet are that it should

(i) be capable of producing a high magnetic flux density,
(ii) retain a high proportion of its magnetic flux after the initial 

magnetizing force has been removed, and
(Hi) not be easily demagnetized.

(b) Sketch (a) shows a horse-shoe magnet with the north (N) and 
south (S) poles marked. The direction of the magnetic flux is shown by 
the dashed lines, and it can be seen that the flux spreads out in passmg 
from the north pole to the south pole. To make the magnet suitable 
for use in a moving-coii meter, pole pieces are fitted, as shown in 
sketch ([>1.

The specially-shaped pole pieces concentrate the magnetic flux in the 
cylindrical gap formed by them, but the flux denssty is greatest across 
the narrowest parts of the gap. Sketch (c) shows a cylindrical core, 
around which the moving coil moves, placed in the gap between the 
pole pieces. The path of the flux is now through the core, and this gives 
a much more uniform flux density in the air gap. This ensures that a 
uniform torque is applied to the coil, whatever its position, for a 
given value of current.

(c) The force on the wire

= Bli newtons,

where B is the flux densdy (T), I is the length of the wire(m), and i is the 
current (A),

2 0-4 x 02 x 0-5N,

= 0’04 N.

(This is the maximum force, and applies when the conductor is a 
right angles to the magnetic field.)

Q 10 Answer 2 of the following parts.

(o) Describe the construction and action of a bimetal relay.
(b) Describe the effect ofinstmment resistance on voltage measurement 

in a circuit of high resistance. Illustrate your answer with an example.
(c) Describe an experiment that illustrates mutual inductance.
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